®3x—5 @ x-1 ® 2x+1

@ x+4 ® 3x+5

3x2 —8x+5=(3x—-5)(x—1)
6x2 —Tx—5=(3x-5)(2x + 1)

BEQ A4 3x—5




=207 —x—-15 Y RIFE BF N2HY

@2x+5 (@)x—3

@ 2x-5 ® 2x+3

o
o
)
=

2x2 —x—15= (2x + 5)(x - 3)




2 4 Ax-3 9] @ A57Fx -3 A 0, A O] S ool

2x2 +Ax-3=(x-3)(2x+a)
=2x>+ (a—6)x-3a

-3a=-3, .a=1

" A=a-6=-5




HOI7H 1042 1 17x 4 3 91 AAZIG] A2 Fol7k sr+1 L o, o]
A}z g o] 7tz o] Aol Fohe?

D 2x+5 @ 5x+3 @2x+3
@ 5x-3 ® 2x-5

10x? + 17x+ 3 = (5x + 1)(2x + 3)




ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)
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x= V34 V2, y = V3- V2 L 1, Q15Ra] BAL o]
of gk Ftelet,
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> Heh: 46
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S5
x+y:(\/§—|— \/§)+(\/§— \/5)22\/5,

x—y = (V+ \B) - (V- v2) = 242
2=y =(x+y)(x-y) =2V3x2V2 =46
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Ta+b ] F27

@7 o5 -3 @-1 60

P trax-3=(x+3)(x-1),a=2
3x2+2x+b=(x+3)(3x-7), b=-21
S Ta+b=14-21=-7




o @ O] A4 ax? + b + ¢ B Q14+ Eallsh=t] SulE
B EOIA 3 (x-1) (x—4) 7F HAT, @A ATTE H
EoJA 3 (x—1)(x+5) 7} =T} o] wf, Fo]F o]x}4]-Z Ht

Q1% Eole AL

©® 3(x-2)° @3(x+2)2
® 2(x-2)(x+2) @ 3(x-2)(x+2)
® 3(x—4)(x+5)

U= 3(x - 1)(x —4) oA A5 12 & 2A HYL,
AAol=3(x—1)(x+5) oA x & A4 12 & FA HYTh
whehA] 3x2 + 12x + 12 = 3(x + 2)2 o[t}
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O 271 & xy(2x+ 3y) —xy(x +y) o I8 BF ALE A2?
27]
Q@ xy © x+y © x+2y
@ 2x+3y @ x(x+2y) ® y(x+y)
ORGNC) 2)0,6,0 ® 0066
ONERCNC) ® 6,8.6

xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x +y)}

= xy(x + 2y)
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2x—y)(x—y+1)-24 &
o, ax? + bx + ¢ E U5EMNSHH?

® (3x-1)(x-2) @ (2x+3)(x+1)
® (3x-2)? @) @x+3)(x-1)
® (Bx+2)(x-1)

B
x—y=Az2 ¥
24(A+1)-24 =242 42424
= 2(A+4)(A-3)
=2(x-y+4)(x-y-3)
et a=2, b=1, c=-3°|th.
S22+ x-3=(2x+3)(x—-1)
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(x=1D)(x-2)(x+1)(x+2) - 10 A5E3sHA?

O (2-1)(x2=6) @) (2 +1)(x*-6)
® (x>-1)(x*>+6) @ (2+1)(x2+6

® (x?-1)(x*-5)

(2—1)(2-4)-10 = x* —5x2 +4-10
=x*-5x>-6
= (x2+1)(x*>-6)
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@(a+3b—4)(u—3b—4)
® (a+3b+4)(a+3b-4)

® (a+3b+4)(a—3b+4)

@ (a+3b+4)(a—3b-4)
@ (a-3b-4)?
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>
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a+3b-4)(a-3b-4)
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@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @(x—l)(x+5y~l—3)
® (x+1)(x=5y-3)

x? 4+ 5xy+2x—5y—3
= x% + (5y + 2)x — (5y + 3)
=(x+5y+3)(x-1)
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002 - 1 = 100x 98 & AYohr] 7P FLE AR

® a®+ 2ab+ b* = (a+ b)?
@ a® - 2ab + b* = (a - b)?
@)a?-1? = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

992 —1 =992 — 12 = (99 + 1)(99 — 1) = 100 x 98




15. x of ISt o]ZFA] 1242 + kx — 7 ©f] Hi5}od
A9z Fotolel
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Q155 g A

(x+7)(12x - 1) = 12x* + 83x - 7
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(2a — b)? - (2a + b)?
=(2a—b+2a+Db)(2a—b-2a-b)
= da x (—2b)

= —8ab
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> E
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16x* — 81yt = (4x% + 9y?)(2x + 3y)(2x — 3y) ©|B2 A+ B +
C+D+E+F=4+94+2+3+2-3=17°|ch
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19. 3x2 +ax+ 12 & x2 + 5x + b SHAA|FA0
Tstoiet. (B a>0, b>0)

12, a+0b 9 TS

(-) —3x12 a=12

x% + 5x + b °] HAFA 0] EFHH
5)2 25

(5 =0 b=7
atb=12+2_B, B _1B




20. YUHol 7t2 e} Al27F 242 3x - 1, x — 2y ¢ A&WA o] Bul7}
3x3 = Tx? — 6x%y + 2x + 14xy — 4y ©|t}. o|uff, o] ZKHA| 9] o] &
TohH?

@x—2 @ x-1 ® x+1
@ x+2 ® 2x+1

B
o Batel WaAzo2 Helsta
Z4)

—2y (3x2 - Tx+ 2) L R e L Ok
= —2y(3x2—7x+2) —|—x(3x2—7x+2)
= (x-2y) (3x* - Tx+2)

= (x-2y)(Bx-1)(x-2)
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